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m Find Slope and Rate of Change

Your Notes

‘Goal: - Find the slope of a line and interpret slope as a

rate of change.
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FINDING THE SLOPE OF A LINE

METHO DL . GIVEN 2 Point 82
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Your Notes
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""! Find the slope of the line shown. LDSING

Find a slope

RiSE OvEe RUN.

alLet (x4, y4) = (-1, 2)
and (x5, y5) = (3,5

b. Let (x4,Yy4) = (1, 4)
and (X2, }’2) = (31 —2)'
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N | METHoD AL .
Keep the x- and o=y -3
{;,ZO: r:::a;f: n I a] m = x2 Xl Write formula for slope. I =
a erin 5 — X4
the numerator and || I~ ‘ PTS (’:l, 2) (g“s) AL EQUAL
i g Z— =" 5 XY v Y
denominator when e - o Substitut
calculating slope. m=-1-3% Yy ubstitute.
This will help avoid
error, 3
\—J = / "{ Simp!ify.
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# The line Kibes from left to right. The slope is y
Positive . ¢

E m = _b_\l Write formula for slope.
. B+ (1) (3I—z>
M= —L&D Substitute.
I =3
_t ol
2 M= = Simplify.

4 The line FALLS from left to right. The slope is
\_ NECATU ¢ .

~

0 Checkpoint Find the slope of the line passing through
the points.

1. (-3, -1)and (—2,1) 2. (—6,3) and (5, —2)

ms ==l oz, =) 3+% . -23
352 =5 -2=(9) Me-c-5° s-(16)
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“+=
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Your Notes Find the slope of a line
>Find the slope of the line shown.

m\ a. Let (xy, y;) = (2, 5) b. Let (x;, v) = (4, —2)
\ and (xy, y,) = (=4, 5). and (xp, y,) = (4, 3).

e

il i
M= Rise O N | T T m= Rse
i B - L [ K:_N
D LRE T ez
B L ©

B
M = UNOSFINS(

METHeo IT : U se m= 8Y/5

a.m= _’;\l Write formula for slope.
ngs_ (le Sﬂ) (‘\1 ' S)
M= —-"= 2 Substitute. ! <
2-() ¢
m =0 Simplify.

X The line is HowizoumL. The slopeis 2 £2.0 ( o)

b.m= B1 Write formula for slope.
ox (4,-2) (4,3)

X N

LTS eune
m = 4-y o Substitute.

(I = UnosFut A yimply

#The line is V€2Ti caL . The slope is UNDEF aigp

Q Checkpoint Find the slope of the line passing through
the points. Then classify the line by its slope.

3. (1, —2) and (1, 3) 4. (—3,7)and (4,7)
Mz =2-3 -¢ M:=7-7T o
-\ "~ 0 3% =
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Your Notes

Find a rate of change

Gas Prices The table shows the cost of a gallon of gas for
a number of days. Find the rate of change with respect

Rate of change

change in cost

change in time

Write formula.

s 2.06 -1.99
1 me = 2 -\ Substitute.
#.10
= 2 DAIS Simplify.

= $.05/ DAY

The rate of change in priceis ( 5 ¢ per day.

& checipoint

~

to time.
P X Time Us (N .
Time (days) | Day 1 | Day 3 | Day 5 THHe DENMNA
Price/gal ($) | 1.99 | 2.09 | 2.19
A S

’ 5. The table shows the change in temperature(over)
time. Find the rate of change in degrees Fahrenheit TS
with respect to time.
—_—— A TEMP of
Temperature (°F) | Time (hours) Ra'\'e- = A Time lﬂ S
L~ 38 o &
= 4 43-3% | s
48 4 Rate = 50 2
53 6
- N N
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Fin@jhe slope of the line that passes through the points.
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LESSON

44 Practice C continued

For use with pages 234-242

Gwen 2 Poiars

Find the slope of the line that passes through the points.

S

. i 1
16. (3.4)and (8,7) 17. (5.5)and (=2, 1) 18. (6, —1)and|6. 5|
! -1 =Y
_ =] | M 2 fe (-( = :
. ‘ v pi Y l :fr nfDl
{ s VA i
M="%s [m¥s M= M=o leeo

20. (—3,4)and (4, 8)

M = "'o) j”g
M —_— —2.:_‘_&. M = i‘—g 5 SO ”,.@..1 ) — (o
I = -3-4 ;
-4 _y M = i = m;_‘"l/
- s | == M=t - =)
" 7o \ Mm="%/s A =

22. (2, -5)and (5, -5) -

23. (-8, —7)and(—4, —2) 1

24. (-2, —6)and (4, —5)

gt ok flp, = =
et M= Lt L
Z——S_ | _%” .1
" -\
M—’—‘E M:—S/"Lf M = =L
..5 “ :
| | M= S|y \M:}b
m=90 |




